[1] Pseudo-Pictographs (20pt)



fri& (&) JE  He chases the deer.

—EEREINEEEE FIZ TIRZE - Abeautiful (male) deer eats a lot of
grass on the prairie.

fifE5#2 18 T 7K - He drank water on the lake.

=/ Mgt o Three small trees.

M HEEIRA R & o He caught two big fishes.

i E=EJH _FFTIE - He goes hunting on the prairie.

—PEEREAZ A © A group of beautiful women.

IR E] T —8EEEE - He hunted an ewe.

AR R BT © He takes fruit in the wood.

N

L O N oUW

(a) FETRHIELE F A B [HERNSCFEE - (EREH NG —HMEEN ST )
Find the correspond sentence for pictograph A to I. (Note: it's one-to-one
mapping)

&l A B C D E F G H

X

(b) #LAUF A FRIZER R ST -
Translate the following sentences into pictographs.

1. MfEFER LEE—TESEEIREEE - She hunted a beautiful doe on the
prairie.
2. WE/NAFEALEWHIEIBIK » Two little rams drink water on the lake.



[2] Gédel number (20pt)

e, [ REmEmE &S s S M EE A SRR A XIS IR — M — 8 B 4R
B (W TERT % (Godel number) ) AL, SE (AL EE R TR 2 R DAY ST/ AN 52
i e B 5 A

In mathematical logic, a Gddel numbering is a function that assigns to each symbol
and well-formed formula of some formal language a unique natural number, called
its Gddel number. The concept was used by Kurt Gédel for the proof of his incompleteness
theorems.

1. fELL AR, A 10 fEA)FFEF FFELAMERY 10 EXRIEMmE, S5 eMiEmER
Fid
In the following table, there are 10 sentences and the 10 corresponding Godel
numbers, not in order. Please make the correct matching among these pairs.

F John meets Jason. 32
& John does not meet Mary. 486
N Mary is poor. 90000
T John does not know Jane. 162
/% Jason knows Mary. 16
. Mary is not happy. 720000
B¢ Jane meets Mary and she meets John. 13122
2 Jason is happy, and he meets Jane. 540000000
= Jason hits John. 64
%% John is either rich or happy. 4374

2. M RREESALAAORLRN, LU T B9 R TR
Translate the following sentences into Gédel number, with the rule used in the
previous problem.

‘John meets Mary and he knows Jane.’
‘John does not hit Mary.’

3.0 CHIER DL T R O R 5 SR - AN B A R A
Determine whether the corresponding sentences of these numbers are valid
sentences or not.

324
270000
1458



[3] Lojban lujvo® (20pt)

al) o
Lojban is a constructed, syntactically unambiguous human language.
Below are 14 lojban compound words and their meaning, not in any order:

1. baukle a. become expert

2. bauske b. boulder/big rock

3. bradu'i Cc. cultural subset

4. brafi'a d. language category
5. braro'i e. linguistics

6. crebi'o f. lojban community

7. jbobau g. lojban language

8. jboce'u h. lojbanic culture

9. jboklu i. novel

10. kluce'u j. of the same size
11. klulei k. petrology (science about rock)
12. kluske 1. science fiction

13. rokske m. social anthropology
14. skefi'a n. society

EE

Note: the rafsi “kle”/“lei” have the same meaning, so as “dun”/”du’i”, “rok”/"ro’i".

1. FESA& R IE A BB 2R

Find the correct correspondence.

2. DUT HRBRERE SR Ak
Write it in Lojban:

a. “grow in size”

b. “lojban expert”

c. “taxonomy”

d. “equivalence class”

! The words can be found in vlasisku, an online lojban dictionary: http://vlasisku.lojban.org/



[4] Mokilese (20pt)

Mokilese 2% wwZEfEVEEd il M RIE LAY —H5E S - HATEHE 500 ZAAEEE - T
WPl FEETES 4 (R ESE) NSER (HE=H) - oEARREZESEH
B AR EE R RS EAEY) - (CEBEREREM who 1 what ZRIBAMEY 2K )

Mokilese (a.k.a. Mwoakilloan) is spoken by about 500 people on Mokil Atoll, in the
Federated States of Micronesia. Each example below contains a number, a noun ('dog’,
'pencil’, and so on) and one of three different types of 'classifier'. Classifiers are used
to classify objects (things, people and so on) according to criteria that the language's
speakers consider important (in much the same way that English uses who and what
to distinguish humans from everything else).

doahk jilmen ‘three dogs’

doahk pahmen ‘“four
dogs’

doahk limmen ‘five dogs’

pinjel jilpas ‘three pencils’

pinjel pahpas ‘four
pencils’

pinjel limpas ‘five pencils’

peipa jilkij ‘three pieces of
paper’

peipa pahkij
‘four pieces of paper’

peipa limkij
‘five pieces of paper’

suhkoa jilpas ‘three trees’

suhkoa pahpas
‘four trees’

suhkoa limpas
‘five trees’

woi jilmen ‘three turtles’

woi pahmen
‘four turtles’

woi limmen
‘five turtles’

woal jilmen ‘three men’

woal pahmen
‘four men’

woal limmen
‘five men’

alek jilpas ‘three reeds’

alek pahpas
‘four reeds’

alek limpas
‘five reeds’

pilawa jilkij ‘three slices of
bread’

pilawa pahkij
‘four slices of bread’

pilawa limkij
‘five slices of bread’

aji jilpas ‘three chopsticks’

aji pahpas
‘four chopsticks’

aji limpas
‘five chopsticks’

wija jilkij ‘three blocks of
land’

wija pahkij
‘four blocks of land’

wija limkij
‘five blocks of land’




jeri jilmen ‘three children’ | jeri pahmen jeri limmen
‘four children’ ‘five children’

(1). #5380 Mokilese HIAIFm DL HIEFE

First identify the words or word-parts that mean
a. ‘three’

b. “four’

c. ‘five’

(2). FIH=fE5%EA > DIREMESR (R EMEEESEEY )
List (in any order) the three classifiers, and their meanings (i.e. the way in which they
classify objects).

(3). EHEMEG TS T ~ &5 9% - NUMB 28T 0 N £r&#H » CL #ns
AR - WRAEH FHBRE—EFS R sifEzmin L +

List the order in which the number, the noun, and the classifier appear in each
example. Use the abbreviations ‘NUMB’ for number, ‘N’ for noun, and ‘CL’ for
classifier. If any of these is always part of the same word as the next one, write '+'
after it.



[5] ICD-10 for traffic trauma (V01-V99) (20pt)

B IR e 5 E M IR S R (Z£2E ¢ The International Statistical Classification of
Diseases and Related Health Problems 10th Revision » ICD-10) 21t 5567 4= 40 4% (e 18 s 1Y) Ha et
B 12 RRPER o FARIEE - G 4RSI 7 AR RN Z44 - BA A EHE 15.5 SfH
HHE - WECER A B2 E R TN - SEERZL DU T HI4RES » G0 R -

ICD-10 is the 10th revision of the International Statistical Classification of Diseases and
Related Health Problems (ICD), a medical classification list by the World Health
Organization (WHO). It contains over than 150 thousand codes for diseases, signs and
symptoms, abnormal findings, complaints, social circumstances, and external causes
of injury or diseases. Observe the following ICD-10 codes, answer the questions.

V11 i =R B B A B2 A 2 e B At AT B 2 P B

Pedal cyclist injured in collision with other pedal cycle

V24 FEFEERS B\ B G B B R i s N SR P AR

Motorcycle rider injured in collision with heavy transport vehicle or bus
V32 S o & ) = WSl i )RR T A g v e R e kel O =1
Occupant of three-wheeled motor vehicle injured in collision with two-
or three-wheeled motor vehicle

V82 (TTAA )& e B 11 i SR i 19155

Occupant of streetcar injured in transport accident

V48 /RS B AR IR M g E U RS

Car occupant injured in noncollision transport accident

V30 = BB O B E = dm iR S HE AT A\ B SR TP AARS

Occupant of three-wheeled motor vehicle injured in collision with
pedestrian or animal

V55 KR L 5 G 22 L 3fe 5 A K T A L K B B L il v Y 5
Occupant of pick-up truck or van injured in collision with railway train
or railway vehicle

V69 B A R O B AR e En E P YIRS

Occupant of heavy transport vehicle injured in other and unspecified
transport accidents

V95 iR Tes SIS EEFREEE

Accident to powered aircraft causing injury to occupant

V45 /INR BT BAE/INR R BEOK B B B R AR Y HR (5

Car occupant injured in collision with railway train or railway
vehicle

V23 FEFC R B A\ B EEFL B R ~ iR BU S B B BRI YIRS
Motorcycle rider injured in collision with car, pick-up truck or van

V13 PRI e R i A S TR AP B B R ~ B S B LR Y IR S

Pedal cyclist injured in collision with car, pick-up truck or van




V86

B Y Mty B B A T BEE E F A ERE HU R B B A S B A S
YRS

Occupant of special all-terrain or other motor vehicle designed
primarily for off-road use, injured in transport accident

V20

EEFE R B R A IR s T A\ S SRR T R

Motorcycle rider injured in collision with pedestrian or animal

V36

= i R EL ST B = it B e B At S A R i Rl 2 v YRS
Occupant of three-wheeled motor vehicle injured in collision with
other nonmotor vehicle

V74

ONFEIR IR B AR H R B B B R A i B BN TS AR R RS
Bus occupant injured in collision with heavy transport vehicle or bus

V77

AR B AR AR L ] 7 BET I YRS i TR VRS
Bus occupant injured in collision with fixed or stationary object

V06

7 AAE BLEA S EA Bl B b 4 T Y $5 15

Pedestrian injured in collision with other nonmotor vehicle

1. FFEAUTHEBEROANE - (TEEEEA X)
Determine the content for the following codes (write X for uncertain codes)

V25

Va4

V47

V82

V10

V93

V36

2. HADUTAEHENRES - (TEEEEA X)
Determine the codes for the following contents (write X for uncertain content)

PRI B S ik N\ = A B2 e L e iy = = B b Bl =L Bl 2 v 4R 5
Pedal cyclist injured in collision with two- or three-wheeled motor
vehicle

PEEFE R B B A T B R R AR T B

Motorcycle rider injured in collision with pedal cycle

=it E) 3k B Ar IR M SR R YRS
Occupant of three-wheeled motor vehicle injured in noncollision
transport accident

FEFEERS B\ B A G L AL A Y AS I R

Motorcycle rider injured in collision with fixed or stationary object

R 7 5 L B LT S (RS Y S R B R B/ N R SR S R G L
YRS

Occupant of pick-up truck or van injured in collision with car, pick-
up truck or van







